R2OK 71"7 '010 R, PYITR L7021

[I may say; she decides and delivers, etc. — 991D RIPMY TR RIAON]

Overview

X1 21 maintain that the case of N2 1n°n is referring to the Xw (of % *wipnn
12 °% "WIpNn T 77an2), and is teaching us that even though she is eating the dates
and 1s deriving immediate benefit from them, so one might have thought the there
1s no requirement that one date must have a 70175 MW, therefore the 71wn teaches that
even in the case of N?21X 07 there is the requirement of a 171 NAR2 5" w. Our MdOIN
discusses what we might have assumed if not for the 7awn teaching n7ow 7.

Mmoo anticipates a difficulty:
- NP 9993 19°9NT 1A0199 MIYN MNSA W1PNNY AT 991 NYT 23 Yy 9N

Even though it is not dependent on her to become nw7p» with less than a
D', as the X1 states in the first pap —

mooIn responds:
:093W> MODIN [NIMY N YPanm

Nevertheless, it is sufficient to make the X9°0 (of n%5 1n°77) necessary.] This is
an addendum from 2°12 npLIN.

Summary
For a Xm>>x a virtual w17°11 18 sufficient.

Thinking it over
>"7 on 2,3 explains® that a woman will not be w7pn herself for less than a 5"w

since it is a 777 X7 "X (not as '0In explains). Can we say that the Xn>™MX is
necessary (according to N1v01N), because we may have mistakenly assumed s™"w9
view and therefore in a case were N> 177 X272°71, she 1s 7Wo1 71pM) 7723 even for less
than a 5" Ww?’

"It could never have entered our minds that a woman would be 2" w» mnoa nwTpn, so why does the 71w need to
teach us the rule of 121 N2 An°A?!

*x,3. See there 7wx) 77 ‘0N,

? In a person’s mind (even though it has no bearing on 71277) there is a greater w17 that even when she shows her
interest and appreciation for the 117 and nevertheless she is not nwTpn (for it is not a 8" ). Therefore the m1wn
finds it appropriate to teach us this 'w17°n" as well.
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> See wn nonl.
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